
Toolbox Talk 
Dynamic Risk Assessment 

 Issue 2: 03/21   

  

 

 

 

Why? 
• A general risk assessment should be in place for any planned work from the 

engage/effective software system 
• An engineer’s Dynamic Risk Assessment should be generated if no general risk 

assessment is available when carrying out maintenance tasks such as going to 
break downs or call outs 

• Dynamic Risk Assessments also allow you to make quick assessment of the 
work environment so you can continue to carry out your duties safely 

• Dynamic Risk Assessments are also to be used when the execution of a job 
changes to that specified in the issued RAMS 

 

The Process 
• Step 1: Hazard identification 
• Step 2: Who might be harmed and how 
• Step 3: Evaluate the risks and existing controls 
• Step 4: Record your findings 
• Step 5: Review and revise your findings 

 

Do 
 

 Consider how likely each hazard could 
    cause harm 
 Eliminate the hazard 
 Reduce the risk ‘as low as reasonably  
    practicable’ (ALARP) 
 Add control measures where necessary 
 Communicate with the client and other  
    workers in the area 

 

Don’t 
 

 Over complicate things 
 Create huge amounts of paperwork 
 Carry out any task if its unsafe 
 Brush hazards and risks to one side 
 Work outside the scope of the permit  
    to work 

 
 

What? 
• There is a legal requirement to carry out suitable and sufficient risk assessments 

of all hazardous activities undertaken by a business 
• What is a ‘hazard’? 

Anything that can cause harm (e.g. electricity, chemicals, pressurised systems, 
working at height, noise) 

• What is ‘risk’? 
• The chance that somebody will be harmed by the hazard (e.g. electric shock, 

burns/poisoning, asphyxiation from loss of containment, fatality from falling, 
hearing damage) 
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How to Calculate Risk 
To understand the health and safety risk matrix, you first need to understand how risk is calculated. 

It might surprise you to know there's a little more to it than choosing if a risk is LOW (green), MEDIUM 
(Yellow) or HIGH (Red).  Yes, there's a proper way to calculate risk, but it's fairly simple. 

Risk = Likelihood x Severity 

Looks pretty simple, doesn't it? The risk is how likely it is that harm will occur, against how serious 
that harm could be.  The more likely it is that harm will happen, and the more severe the harm, the 
higher the risk and before you can control risk, you need to know what level of risk you are facing. 

To calculate risk, you simply need to multiply the likelihood by the severity.  Well, how on earth do you 
do that? I'll just type "not very likely" and "broken leg" into my calculator. 

Nope, it's not going to work, we need another way of multiplying likelihood by severity, and we can 
assign numbers to each level.  For example, unlikely to hurt someone could be a 1.  

Almost certain to cause harm could be a 5. 

The numbers go up on a scale for both likelihood and severity.  Now we have some numbers, we can 
use a calculator (or your head if you're feeling especially smart today) to do some maths! 

Not Very Likely (2) x Broken Leg (4) = Risk (8)  

Ok, great. We have calculated some risk.  But what does 8 mean?  

The risk level of 8 could mean anything.  It needs to be put into the context of the risk scale you are 
using and this is where a risk matrix comes in handy. 

How To Use A 5x5 Risk Matrix 
Now we know how to calculate risk, and what a risk matrix is, we can apply this knowledge to the 5x5 
risk matrix.  Because a 5x5 risk matrix is just a way of calculating risk with 5 categories for likelihood, 
and 5 categories severity.  Here's how the 5x5 risk matrix could look, using the above scale:  

 

Now we can calculate our risk level, from 1 (Very Low Risk) to 25 (Very High Risk) using the 5x5 risk 
matrix.  Let's take our earlier example.   

A broken leg would be a major injury, but we estimated that it's not very likely to happen in the risk we 
are assessing.   

That would be unlikely on our likelihood scale. 

And major injury on our severity scale.   

Using the 5x5 risk matrix, we can see that gives us a ‘8’ medium risk. 
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